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QUESTION 1

The operations team is onboarding new interns in Active Directory. The interns need to work in the company\\'s
vRealize Operations environment while maintaining corporate security compliance. The intern Active Directory group
should only have PowerUser role to a specific vCenter cluster and ReadOnly for all other objects.

Which option would meet the requirements?

A. Create new Active Directory accounts and import the intern user accounts. Create a new role for the interns and
assign appropriate permissions on objects.

B. Add the interns to a new vRealize Operations Active Directory Group. Import the Active Directory group and grant
access to relevant objects and all actions for the specific vCenter cluster.

C. Add the interns to the existing vRealize Operations administrators Active Directory group and grant access to
relevant objects and all actions for the specific vCenter cluster.

D. Create a new Active Directory group for interns. Synchronize intern Group, create a new role for the interns and
assign appropriate permissions on objects.

Correct Answer: A

QUESTION 2

An architect is responsible for creating the design for vRealize Operations. The following requirements, constraints, and
recommendations were gathered:

Enable Continuous Availability Monitor two physical locations The sizing guide recommends deploying 5 analytics
nodes

What are two design considerations for the analytics node deployment? (Choose two.)
A. High Availability will need to be enabled

B. Extra Large Nodes must be used

C. Two fault domains need to be created

D. A sixth analytics node is needed

E. Anti-affinity rules will need to be created

Correct Answer: BC

QUESTION 3

A financial business wants to reduce the time-to-market by automating the end-to-end testing of a prime service
application and releasing it with minimal user intervention.

Which service in vRealize Automation will allow the business to achieve the requirement?
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A. Cloud Assembly
B. Code Stream

C. Service Broker
D. Orchestrator

Correct Answer: B

QUESTION 4

When designing a load-balanced vRealize Operations cluster, which three aspects should an architect consider?
(Choose three.)

A. Maximizing node participation in the handling of Ul sessions and traffic
B. Providing high availability if any admin or data node fails

C. Reducing the number of certificates that must be managed for the nodes
D. Minimizing node latency in the handling of Ul sessions and traffic

E. Simplifying the configuration of End Point Operations (EPOps) agents

F. Providing fault tolerance if any admin or data node fails

Correct Answer: BDE

QUESTION 5

An architect has designed a vRealize Log Insight (VRLI) cluster for an organization. Details of the cluster are provided
below:

3-node vRealize Log Insight cluster to collect logs for an organization NFS storage is enabled for archival data Once the
NFS storage is full, which will be the resulting scenario?

A. VRLI will stop ingesting new data and unless free space is available, loss of data will occur.
B. vRLI will automatically delete the oldest archived logs, resulting in archived data loss.

C. vRLI will further compress the active logs to make more space available in NFS storage.
D. vRLI will send a notification and automatically disable log archiving.

Correct Answer: A
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